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QUESTION 1

View the Exhibit.You decide to select the setting option in the Exhibit to choose a baseline to be displayed in the
performance page. What would you achieve if the baseline is selected in the performance page? 

A. A line appears in the chart that displays the 99th percentile level of the baseline. 

B. The performance page displays session-wise statistics compared with the baseline. 

C. The performance page displays the metric names and corresponding threshold values set to them. 

D. An extra chart appears that shows the performance at the time when the base line was last computed. 

Correct Answer: A 

 

 

QUESTION 2
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View the Exhibit.Which statement is true about applying the threshold setting in the Exhibit. 

A. The threshold does not depend on any baseline. 

B. The threshold is decided by comparing the warning and threshold values with the LAST_NIGHT baseline. 

C. The threshold is decided by comparing the warning and threshold values with the SYSTEM_MOVING_WINDOW
baseline. 

D. The threshold is decided by comparing the warning and critical values with the baseline set on the performance
page. 

Correct Answer: A 

 

QUESTION 3

Your database supports many applications running on the middle tier. Many applications users create jobs for which you
want to statistically measure workload as a part of performance management.What would you do to accomplish the
task? 

A. Assign resource consumer group to jobs while creating the jobs. 
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B. Create services for the applications and create jobs by using the DBMS_JOBS PL/SQL package. 

C. Query v$SESSION to gather statistics of the individual sessions for the workload created by the jobs. 

D. Create services for the applications, create job class associated with the service, and then create jobs by using the
job classes. 

Correct Answer: D 

 

 

QUESTION 4

In your organization, there are two key databases. One of them is used primarily for an online transaction processing
(OLTP) application and is directly accessed by the users in a client/server configuration. The application must process
an average of 4,000 small transactions per day. The users enter frequent queries on whose results they depend for
completing their transactions. One of the SLA requirements is that any query or transaction processing in the OLTP
system should not exceed 15 seconds. The second database supports a decision support system (DSS) as well as
batch report programs. It is accessed by client-side users, who submit ad hoc queries through SQL*Plus and by a
browser- based,third party application that provides pooled connections for a large user base. The queries vary: some
fetch only a few records, whereas others fetch and sort hundreds of records from several tables. As per the SLA
specification the average turnaround time for a query on the DSS returning 10000 records should be 24 hours. For both
the systems, the number of users is not consistent and may vary from time to time.The management wants to ensure
maximum resource usage is allocated for the OLTP processing. Which two considerations should you give priority to
when tuning these databases? (Choose two.) 

A. Minimize parallelism for the OLTP systems. 

B. Maximize throughput for batch processing. 

C. Minimize the response time for OLTP users. 

D. Maximize parallelism for the decision support systems. 

E. Minimize response time for the decision support systems. 

Correct Answer: BC 

 

 

QUESTION 5

Examine the following block that executes a SQL Performance Analyzer task: 

begin dbms_sqlpa.execute_analysis_task(task_name => \\'SPA_SKD4\\', execution_type => \\'TEST EXECUTE\\', 

execution_name => \\'before\\'); 

end; 

Which two statements are true about the execution? (Choose two.) 

A. It generates execution plans and execution statistics. 
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B. It executes only the query part of the DML statements. 

C. The test plans are generated and added to plan baseline. 

D. The test plans are executed, but not generated if they are available in the plan baseline. 

Correct Answer: AB 
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